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Question 1

a. x =w =174 and 174 +1.965=193.6, s=10
60 40 . ..

b. —x170+-—xh =174, mean height of remaining students 4 =180
100 100

c. (174—1.96><£, 174+ 1.96x£j ~(172,176)

100 v100

Question 2
a x'+3x-4=0, (@ +4)* =1)=0, x=+2i or £1

b x*+3x°+4=0, ¥ +4x°+4-x2=0, ( +2f = > =0, (P —x+2)* +x+2)=0,

1+/=7 —1+4=7 1, .47 1, .47
= or x=———— . x=—tj—or x=——%i—
2 2 2 2 2 2
Question 3
log, 3 log, 2 3 5
a. J‘exdx— jexdx=[exlog”\—[exlog” =3-2=1
0 0
[ 27
b. jloggxdx:310gg3—1—210g82=10gg7—1
2
Question 4
a.
/ \
/ \

b. Area= ZIcosxdx =2
0
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QuestionS a. z;=-iz b.

Question 6
a. ﬂzzsin‘(ﬁj, y=jzsm-l(ijdﬁ27z=2><1(7c—2)+27z=7c2
dx b4 0 v 2
d| x . l(x] (x]z 1. l(xj X 1 -5 1. l(xj
b. —|—sin" | — [+,/1-|—| |=—sin" | — [+—X + I—=—sin | —
dx| & z z z r) m yrt-x \/1_(42 T z
Question 7
o, QAOB_OC.OB  0C.OB_OAOB_., ¢ 08-04.08=0, (0C-04)0B=0
0B |0 T

: AC.OB=0 .. OB and AC are perpendicular.

b. OA=00+0A, OC =00 +0C,

_— —_— _— _—

04.0C = (00 + 0A).(00+0C)=00.00 + 00.0C + 04.00 + 0A.0C

= ‘0Q‘2 + WOQHQC‘ coséd + ‘QﬁA“O_Q.‘ COS(7z - 6’)— ‘@‘ =0 .:0A and OC are perpendicular.

Question 8

a. 25x5=125m

b. %(10+20)><30—%(15+20)><25:12.5m
3(¢—5) 5<t<10

c. D(t)=115(2¢-15) 10<1<20

450-3(25—-1)  20<r<25

Question 9
a. ‘ﬁ‘: 20% +15% =25 N

b. Angle between F, =20 N30°E and R =sin™ (%) =sin™' (%)
o, .13 .1 .3 1 3
Angle between N and resultant force = 30° + sin 3 =sin B +sin 3 La= 5 and b= 3
625
c. a =§’ u=0, s :ut+lat =O+l><§><52 =@, distancezﬁm, average speed=i=E
2 2 2 2 4 4 5
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